


















































Let's show that 42m w
k O t OO 2t uwt

Due to our replacement deviation from
classical pathXITY Kelty yity

a myth
x g07 0

Iffy sato
Xi I

is www.tt t t

kLo40,0 yCtDexpfihEfdtYy2w2yY.s
such path can be written as a Fourier SIM
series with a fundamental period of t

y E AushlhII
and it is possible to specify a path throughthe coefficients au instead of the function values
yctu
The jacobian of this transformation J doesn't
depend on WW

all the prefactors that do not depend on w
we will recover from W o limit
which corresponds to free particle

1 2
40 40,0 2tf



Plug in yLt into exp n
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On the assuurtion that coat region is divided intodiscrete steps there is only a finite number NN
of coefficients Ann
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Since the exp can be separated into factors the integral
over each coefficients Au can be done separately
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